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G12 General Physics — Final Revision Auilgdl) dxa pall — el 3dl) T1-2024 - 2025

Physics 12 G Mock EXAM 2025

K =9.0x10° N.m?/C*
Fong P = IAV
p = Kats F =
72 1 P =I°R
Kq AV
E=— ey
r2 i I
Ay = Yond bt
q T
AV = Ed “ AV?
o R
AV

ki g shoas O i L (a5 51 o Al 5 pall Sl
The work done to move a charge between any two of these positions must equal Zero

(g gl O i Lga o g (g 8 (il gl gl
The electric potential at any of these positions must be Zero

e (g gl O oy Lgha gga (g e ALy gl Jlanall
The electric field at any of these positions must be Zero
1 hia (o gbai ) i o) gall 038 (4 (5] Ais Ao guda g ddadi o 5 yiigal) dily 14 B gl
The electric force acting on a charge placed at any of these positions must equal Zero
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2.00V
0.50V
60.0 V
800.0V

o0 ®>

the net charge on the positive charged plate is

the two plates of the capacitor?

i 40uC. What is the potential difference between

[ 1
1
1
]

e Aadl) gl g ey (20pF) Airw (EiSa Jaa 5 o Ladic |
Sl o) G g2 (3 ke L (40pC) i sall Aa gl |

7.8A
0.13A
41A
2.8A

oN®r

[ 1

i An air fryer with a power of 1800 W is connected to a
i source producing a potential difference of 230V. What

sl A B Aty jaaa Ledua ¢ T (1800 W) Ls a8 dui g 3306 |

M) A jlall Ll L (230V) 5 )ka |

is the current through the fryer?
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e A positively charged sphere A is brought close -i

without touching to a neutral sphere B as shown in i
the figure. Sphere B is connected with a grounded E
wire. What is the type of charge on sphere B? i

Positive

Jaladia
Neutral

Al
Negative
Al g Aum g (ygsi B8
It might be positive or negative

'I

! A negative charge of -2.0 X1 0 7 C is located in an electric field of 20 N/C directed |
toward the East. What is the electric force acting on the charge? E

L2 4.0X10 5N West

3,5 4.0X10 SN East

L£1.0X10 73N West

8,51.0X10 3N East

Mr. Adham Zewin - 0505084733
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following diagram represents the correct direction of the net force on (-q)?

AL (gl 3 (+Q) Lagha IS e (ki il g

"

,Mi@MEﬂGquj¢b(_q)uJI&MM“@JAgé i
Aliaaal) 5 gl olai) e JSdy (s 45Y) cihbial) Ga i |
|

(-q) Eadd) o b Al

E Two point charges of +(), are fixed at opposite corners of a square as shown in
i the figure. A negative charge (-q) is placed at a third corner. Which of the

Q
q +
.
Q
/ Q o r
A +
Q Q+
B
Q
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) m ! OB A1 JS2) b Adsall s el 5 A gl L) 50 1 |
\ i $AL 4 daglia |
' i :

i Which of the copper wires shown in the figure E
i has the least resistance? |
i i

- Whlch of the following statements is true in terms of the direction of charge flow

i through a conductor?

© o0 So o

A ) dgad) ) (addiall agad fe dadlod) Cilia i) gdai

Negative charges flow from the lower potential to the higher potential

i el agadl ) (addiall agal) Gadia gal) Clia il 58T

Positive charges flow from the lower potential to the higher potential

addiall agall ) adi yall agadl cpe ddlod) cilia il Ao gall Cilia il 380

Positive and negative charges flow from the higher potential to the lower potential

i pall agad) ) (addiall agall ca ddladl Clia il g gall Clialdl 8

Positive and negative charges flow from the lower potential to the higher potential
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B- A i@\mgwigiAMiwm\yﬁaimdﬁPﬁi

on charge d i @mauuldjaﬂ\upa{_g\ M\@J@M(q)h;gnmg

b R
AT --

A positive test charge is moved from point A, apart i
from a positive charge (q) to point B as shown in the !
figure. Which of the following rows is true? i

.............................................................. o
By A Ox 3l @8 DAY Al gl g A8l 3 i)
Potential difference between A and B The change in potential energy of
(Vs-Va) the test charge
A Negative <llw Negative ol
B Positive o> s Positive o2 s
C Positive >3« Negative <l
D Negative ol Positive i s«
i dlsa Lagliss ((20C) \agha JS 1i8a By A Gliias | :
A B i oﬁml._.may1J1mu,ds~dtgaJ+hﬁLA(o,05m) i
! a1
A - bbbttt
0.05m i Two charges A and B each of (20uC), are separated i
i by a distance of (0. 05m), as shown in the figure. i
i What is the force between the two charges? i
A. 1440 N
B. 720 N
C. 450.0N
D. 8000 N

Bl ae Ol S fiiad Ja AugSh Jaal) bishd (S5 s !
/ ; O pha Al Jlaall ke ¢ oS ASY) pual gall |

i The figure shows the electric field lines around two i
i charges. At which of the following positions the electric |
i field equals Zero? i

Mr. Adham Zewin - 0505084733
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P b oat LS Q At Aind e (0.5 m) % e (a) A o |
1 .(9.0 X 10* N/C) g g (a) Al sio Al 1<) Janal) )
i $Q ddall jlaka gb Le

Q .'1:,._ P
0.5m E i A point (a) is at a distance of (0.5 m) from a point |
i charge Q as shown in the figure. The electric field i
i strength at point (a) is 9.0 X 10* N/C. What is the i
i maghnitude of the charge Q? i
A. +2.5uC
B. -2.5uC
C. +5uC
D. -5uC
| LS g G Al (o By A (liiadi iy |
i 5ol B Adadd) dad A ddadl) Jeal b e |
i B Aail) L udad Al s}‘uummu_mf:;i{h i
-Q o A Al
' Two charges A and B are separated by a !
A B i distance as shown in the figure. A attracts E
i B with a force F. What is the force that B |
| attracts A with? ]
e e
A <
3
B. 3F
C. F
D. 9F

Mr. Adham Zewin - 0505084733
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45.0)J
4.50)
30.0J
3.00J

o0 ®r

e Tme T m e e !
B (98T G Ay jlay e a9 (20) Alaglia (590 Zluaa |
lesns (A A8 J)sia La (1.5 A) glaaal) (& Jlal) L) |
(10 5) P& glanadl) |

A flashlight bulb with a resistance of 2 Q is
connected to a battery. The current through the
bulb is 1.5 A. How much energy does the flashlight
transform in 10 s?

! R |
| Q2 3 Q1 O S Gl dga (b gl Jlaal) i) el !
i Sdainia AIL) &) jlunt) g;i I
| i
1

The figure shows the electric field around two point !
charges q; and q,. Which of the following E
statements is true? |

q1=20q2

qi1=-2q2

91 =02

g2=-2q1
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Ty

pH

E Al Gl G padia g (AL RS CLIS (o B (ual o
| Adady (S gandia ALK LB g gl (Gluadl A1) 2ay Ada)

Ty ol Lgp i Al Ay jhal) L Al

-
A negatively charged rod touches the knob of a !
neutral electroscope. After the rod is removed |
the metal leaves are negatively charged. Which |
type of charging is this? i

The figure shows charging by

B) induction
C) friction
D) grounding

A) conduction

....... Gk o8 (Al JSAl) g
Jaa sl (1

Eall (@

Y (¢

o=l (3

Oa JSldasna cile) B el AW JLEaY) A Aduall Al gl 3l gal) Ca (sl cagh Qeild ) Ialiiad

€3¢ @y dasliall s L |

-
i According to Ohm’s law, which of the following circuits has correct readings
i

for the current, resistance and potential difference?

(2 )
&) &)
10A 0.1A
— a4y 400 = a4V 400
1
(a) (n)
\Z/ O/
10A 16A
+ --+
= 4V 400 = av an
1
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v}

ri [ e m e e e e e
| i The diagram shows two electric circuits

E C1, C2. How are the elements connected i
== E in each circuit? i
C2 s

ik

C25 5l 8 s 51l e g« CT3 il 8 Mgl o

Parallel connectionin C2 and series connectionin C1

C2s CLif A A 516 Ao
Parallel connectionin C1 and C2

C25_ 04 3 gl o g CT3040 2 o 5edl o

Parallel connectionin C1 and series connectionin C2

C25 C1o8 A & Mg e

Series connectionin C1 and C2

Mr. Adham Zewin - 0505084733
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*— § Mator bl £ - . - L7 ¥ 4
pr— TRl gl g (B g s S Sl paddud al |
J = 1
1

i What is a potentiometer used for in i
_J — — i electric circuits? ]
- e e e i
bl g b
(iliags 1)
Potentiometer
A AN gl § 8 Ll
To measure the electric potential difference
AN ) e (bl
B To measure the electric current
Aol S ABal) 0 5830
C To store electric energy
Sl ) Bad il
D To change the electric current

" e .t T
(2.5cm) GEkAL G 2ad) 9 ((500V) (5 gbeas aliiia b S Jlama 2 (puihall ( agad) (3 2

Tl Jlaall 52 Jldia la |

i The potential difference between two points in a uniform electric field is
i 500V. The distance between the two points is 2.5cm. What is the electric

! field intensity?

A. 20x 10*V/m
B. 2.0x 10°V/m
C. 5.0x 10 V/m
D. 1.2V/m

Mr. Adham Zewin - 0505084733
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A8 B (AR ) dlal) il b Al g8 B e ALalS B a0 B duily <)) ciliail) (i Laxie |
i ?sﬂﬁgﬁ%lujpé‘gbﬁoi%w‘g
e e e e

i When the charges are going completely around an electric circuit, the net change
i in potential energy should be zero. What is the reason for this?
1
1

Al gl 5 1Al B Lgns A oL A Al et A
The electric charge decreases through the circuit

Al S0 3 Al A 1S ja U] JBS cliaill A0S 4Bl
The total energy of the charges decreases through the circuit

Ay g1 5 jaall (B A ghae Ay Sl Adail)
The electric charge is conserved through the circuit

Al g 5 Il B Lgas e ala 5 cliauill A0S A8y
D The total energy of the charges increases through the circuit
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| o gatia (o 1 e Cn 8l (o Lagaa g 39 P 5 Py 8 05 S0 Q|
i dhd1@yy¢ﬂ15ﬁﬂwhe;aagahwdl S laia Ciiand !

o
The diagram represents two protons, P; and P, located |
between two oppositely charged parallel plates. Which i

Tl g gl Ga JS Ao (Al esl)

of the following statements is true in terms of the force
exerted by the electric field on the two protons?

Siall 5 JLi Py 3Py e 5 ipall 5 gl

The force on P, and P, equals zero

Py o 5 igal 3 gill (a S Py o 5 a5 8

The force on P, is greater than the force on P,

Py 1o 5535 51l a ST P, e 5 isall 3 8

The force on P» is greater than the force on P,

P2 5 5 90 5 1 s S Py 1o 5 i gall 3 a0

The force on P; is equal to the force on P;
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O Al g B 4 olad) s JS Jay (Al Las
1 (: - J*'l .I n-u' - “I"I“I!:"ﬁ' - J"l ’I: &

L. - - - - -

Which of the following shows, correctly, the
1 direction of the electrostatic force between two
negative point charges?

B

A

; —@
-
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A e e (S pa Al Apdaadadnl) o g ) (4 gl

¢ s glaall gl dliaal) duily <) .

i Which of the following schematic diagrams ;
| represents correctly the electric circuit shown in the ;
! figure? E
® ®
O, O
O
®
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